{9 &7t ad / RAILWAY RECRUITMENT BOARDS
a0 & T ot/R0% - T & o &t - CEN01/2019- NTRC

I

[Participant ID
Participant Name

Test Center Name

Test Date [03/04/2021

[Test Time 3:00 PM - 4:30 PM
Subject INTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Section : NTPC

Q1 = 2301 = Bl 2, 2, 2 & wogae & A= art 7 feafea B e 8, & swe v ot s
T A

Ans  of 13102
X 23120
X 3 3153
x4 3136

Question ID : 94891111554
Option 11D : 94891146215
Option 2 ID : 94891146216
Option 3 ID : 94891146214
Option 4 ID : 94891146213
Status : Answered
Chosen Option : 1

Q2 Ry v ded = wwEE Hewwa AN 3W GEA W GG F A FEA TARER (?) F T W H
TR E

6, 5, 15, 10 = 91
8 20, 7,9 =157
4,13, 12, 18 =72

Ans X1 112
V2178
X3 198
X4 222

Question ID : 94891111803
Option 11D : 94891147211
Option 2 ID : 94891147212
Option 3 ID : 94891147209
Option 4 ID : 94891147210
Status : Not Answered
Chosen Option : --




Q.3

aRa ¥ faca &7 g FHT s
I e T

< 2 TFuTe FemHt

X 3 T=T |/AT

X 4 9RE & Tegola & AT TS do%

# vrga faar s 7

Ans

Question ID : 94891111842
Option 1 1D : 94891147365
Option 2 ID : 94891147367
Option 3 ID : 94891147366
Option 4 1D : 94891147368
Status : Answered
Chosen Option : 1
Q.4 : ¢
few =17 armersl & Few, ARFR AR TgAF F AT AT HAC
10, 8. 18, 12 12, 12
Ans 1. 36
X230
X324
<412
Question ID : 94891111572
Option 1 1D : 94891146286
Option 2 ID : 94891146285
Option 3 ID : 94891146287
Option 4 1D : 94891146288
Status : Answered
Chosen Option : 1
Qs Vs+4z
My = a+ b/IEE, & a & A= A HiFw
Ans 1. 4
<23
<38
K45
Question ID : 94891111553
Option 1 1D : 94891146209
Option 2 ID : 94891146212
Option 3 ID : 94891146210
Option 4 1D : 94891146211
Status : Answered
Chosen Option : 3




Q.6 50% 3rFerar AT 9 L g9 F 30% ESdr 9 g9 # ufefdT e ¥ e sud e A & o
TEremaT ST =fge?

Ans X 1.9 L
2.6 L
X3bL
X43L

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

94891111556
94891146222
94891146221
94891146224
94891146223
Not Answered

7w 3 T TS TEITHT v TEw A 32

Ans

1. 4
K27
X33
X 45

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

94891111545
94891146178
94891146180
94891146177
94891146179
Answered

1

Q8 fTr=fafee # ¥ o AgeAr et 3t Rawwe T & wro Fest 1921 # s § Fei-fears

& AT A2
Ans x
1. IEegaATy &Y
X 2 GHY I 9
X 3. Tgpa aes
D25
4. AT GTH
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

94891111821
94891147284
94891147281
94891147283
94891147282
Not Answered




Q.9 fawedt & & 38 weg o T4F Hi, 50 BT ¢ oreg F Fewl F7 39067 HF A& TATAT N FHAT 2

rerg Aoy f2fSesr Reiew aMeea (Retired Officers Digital Records Archive)

Enthusiastic
Ans X 1. Thus
& 2. Static
& 3. Satin
4 Choate
Question ID : 94891111785
Option 1 ID : 94891147137
Option 2 ID : 94891147139
Option 3 ID : 94891147140
Option 4 ID : 94891147138
Status : Answered
Chosen Option : 4
Q.10
RODRA &T ®gr 0T ¥ &1 g7
Ans 1

Chosen Option :

K2
fres sifesae f3fSeer R=sw AeEa (Replaced Officers Digital Records Archive)
X 3.
frees sfraT BfSeer Neew 3T (Returned Officers Digital Records Archive)
X 4
grreee 3iifray Bfeesr NFsT amwEa (Reinstated Officers Digital Records Archive)
Question ID : 94891111836
Option 1 ID : 94891147342
Option 2 ID : 94891147344
Option 3 ID : 94891147343
Option 4 ID : 94891147341
Status : Answered
Chosen Option : 1
QM sfewm wrere FhE & ‘T HEE (pledge movement)' % fRT o, SHT 3%eT FT UT?
Ans -
X 1. e BaE & wiedEd AT
X 2 gy JUT @A HIAT
X 3 FETEHaT Fr 98T 9 T
« grer faag #r Tefe
Question ID : 94891111820
Option 1 ID : 94891147280
Option 2 ID : 94891147277
Option 3 ID : 94891147279
Option 4 ID : 94891147278
Status : Not Answered




Ans

FUA

1. Tfr s g B
2. @l gea T §

ey

I msfr T = )
II. o P == =& #)

. Faer oreEy | gTere FYaT 2
X2 ey | it ey 1, ST & o e 2
X 3. Faer oSy || 9T T B

Q12 T o Fuet AR Frewst @ aEs 9 st #@e & R v Gewdt § @ S @ w71 oase
T F AT w87

X4 o ar oy | At 7 & sy || greeT aar B

Question ID : 94891111781
Option 11D : 94891147121
Option 2 ID : 94891147123
Option 3 ID : 94891147122
Option 4 ID : 94891147124
Status : Answered
Chosen Option : 2
Q13 o wdr 1 7=, 1 91 2 7 2 A% AT s TE 12 ¥ 12 I} g ¥ 1 A F udr e A
FAI?
Ans 11092
< 2 1088
< 31029
< 41200
Question ID : 94891111788
Option 1 ID : 94891147152
Option 2 ID : 94891147151
Option 3 ID : 94891147150
Option 4 ID : 94891147149
Status : Answered
Chosen Option : 1
QY Soafaf@a F & #iF @ U 2022 ¥F vt At Hr AEET FEm?
Ans X 1. 8IRA
X 2. 2
X 3 Farer
4 =T
Question ID : 94891111835
Option 1 ID : 94891147337
Option 2 ID : 94891147339
Option 3 1D : 94891147338
Option 4 ID : 94891147340
Status : Answered

Chosen Option : 1




Ans X 1.100 km
A< 2140 km
#3130 km

4150 km

Q15 2 yeenfear el & g2 & T, 10:00 am 3T 10:30 am == Fedr § 3R o &=t Twenzat H
et waFer 60 km/h T 75 kmvh E1 REel & Bhaw km g W @ eENfEAT v @ g

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

Status :
Chosen Option :

94891111562
94891146245
94891146247
94891146246
1 94891146248
Answered

4

Q.16 e 958 TS (Bretton Woods Agreement) & ogd &a TF 5 AU Hifgw womel WRer #

Chosen Option :

T2
Ans X 1. 1948
< 21945
5 1944
< 41942
Question ID : 94891111833
Option 1 ID : 94891147331
Option 2 ID : 94891147330
Option 3 ID : 94891147329
Option 4 ID : 94891147332
Status : Answered
Chosen Option : 3
Q.17 u ¢ *
R 1 sRET d@fEaue & fFE g F 9T @ T g?
Ans
1.
FHEIAT g
X 2 TsT g=:
X 5. HIRNT H{E
X 4 e g
Question ID : 94891111828
Option 1 ID : 94891147311
Option 2 ID : 94891147310
Option 3 ID : 94891147312
Option 4 ID : 94891147309
Status : Answered

1




A1 ger-ater R e
X 21919-22 & Uger HUEAT Hered
X 3 Jfole Tee & Ay
X 4 RS & IUI0T HAEIE

O el arere Y AT oRA H ¥ 2 g§ o

Question ID : 94891111817
Option 1 ID : 94891147267
Option 2 ID : 94891147266
Option 3 ID : 94891147265
Option 4 1D : 94891147268
Status : Answered
Chosen Option : 3
Q19 _:
FErT T feaw R e mamar Smar 27
Ans .21 S
X213 S
3.
X 5. 24 R
X421 72
Question ID : 94891111804
Option 1 ID : 94891147214
Option 2 ID : 94891147213
Option 3 ID : 94891147216
Option 4 1D : 94891147215
Status : Answered
Chosen Option : 1
Q20 - * + . +
=T T 7 gt 35330 (Spinal Nerves) T 272
Ans
1. 31 FEr
X230 SEr
X 3 33 FEr
X 4. 32 FiEr
Question ID : 94891111814
Option 1 1D : 94891147255
Option 2 ID : 94891147253
Option 3 ID : 94891147256
Option 4 ID : 94891147254
Status : Answered

Chosen Option : 1




Q21 zz o & o v AT e, e 22,50, 220, 1.20 3R 27.50 enfEer g7

Chosen Option :

Ans X 1.31.20
2. 260
X 3. 340
K 4 35
Question ID : 94891111548
Option 1 ID : 94891146189
Option 2 ID : 94891146192
Option 3 ID : 94891146191
Option 4 ID : 94891146190
Status : Answered
Chosen Option : 2
Q22 53 fymeq # w9 H{, Srww S Mg F T T GO §, S @Y UG F GF A= H B
ST ;SO AT 7
Ans X 1. SRl
< 2. gree
. T
X 4 FrEr
Question ID : 94891111774
Option 1 ID : 94891147093
Option 2 ID : 94891147096
Option 3 ID : 94891147094
Option 4 ID : 94891147095
Status : Answered
Chosen Option : 3
Q23 gary =g &9 F TEAT AR W I ARAT TET FET F AT T AT A2
Ans X 1.1942
X2 1934
31938
< 41932
Question ID : 94891111818
Option 1 ID : 94891147272
Option 2 ID : 94891147269
Option 3 ID : 94891147271
Option 4 ID : 94891147270
Status : Not Answered




Q24 67 x 35 x 11%° % FUEEsH (factorization) & frae Iweewr TEwT anfder &2
Ans 1. 30

X215

<3 20

K425

Question ID : 94891111552
Option 1 1D : 94891146206
Option 2 ID : 94891146207
Option 3 ID : 94891146205
Option 4 ID : 94891146208
Status : Not Answered
Chosen Option : --

Q25 gawd, R, S, T, U 3t V & oF @g #1 7 3= TRER A e e # e o 1 8 e
T e Mels W = 9 § 0% e Bes S 9T € U R g5 S 9§
FIET o1 ST g & 3R v emw 2@ S =Ea B

- R & o P = e mear § 3R F & S onT S e
- S & TRk Qe W AT T A 2
- TRV # ¥ v Refae o S T 2
- U RfterR g@e e e #
-V F FY agd oFe § R 3 W AR A S of A v
=H ¥ FiA TreR e F e 27
Ans X1R
R2T
PERY
4.5

Question ID : 94891111799
Option 1 ID : 94891147193
Option 2 ID : 94891147195
Option 3 ID : 94891147196
Option 4 1D : 94891147194
Status : Answered
Chosen Option : 1

% yra & swreay # e gE e frar s ¥
v X 1. ST ¥ wewdt ga
X > W ¥ wee o Rt # wee g
X 5. U=OHAT F WEEIT @
‘. FHG % Gl HeAl % WAl ganr

Question ID 94891111829
Option 11D : 94891147314
Option 2 ID : 94891147313
Option 3 ID : 94891147315
Option 4 ID : 94891147316
Status : Answered
Chosen Option : 2




Q.27
I at+tb+c=0 g, a‘r*‘z’;"—:“z FT AT AT FIATI

Ans x 1.1
<20
X33
4. 2
Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status
Chosen Option :

94891111567
1 94891146266
94891146265
1 94891146268
94891146267
: Not Answered

O e e s ¥ frud wefg §2
b !
$T T ATHRI-UT 8T JuTelr (India's anti-nuclear defence system)

2. ST o7 39EIE-IT Fase wletor

X 3. 9T TR Ao FEaEA
< 4

ST F1 ATEFHT 3" FERar A (India's mission for nuclear self-dependence)

Ans

Question ID

Option 2 ID

Option 4 ID

1 94891111831
Option 11D :

94891147321

: 94891147324
Option 31D :

94891147323

194891147322
Status :
Chosen Option :

Answered
3

Q.29 g ¥ frw afafs o wma F BfSew e &1 Sefed o & 3Ue & @9fie 39 e RBI %
THeT FEga e

As o o e WY

X 2 g AR wAfA

X 5 TgHR @ TE
‘. Fge ool afafy

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status

Chosen Option :

94891111839

: 94891147354

94891147356

: 94891147355

94891147353

: Not Answered




Q30 gwsfai P, QR S TaMU R IGH ga & T g1 S, RamU A a8 ¢, afe P & o1& 71

T o shaol Ter &7 oIgahr @21 gl

SR A F AR § & FiF W aeEA 56F A9 ¢ (I AR § 5 A & ged &4 H)?

Ans L@ oo BR H
2P, 1,5 R 1. &
%3P 1 B 85 R, U
"4+ 1I.P. S R U

Question ID : 94891111800
Option 1 1D : 94891147200
Option 2 ID : 94891147199
Option 3 1D : 94891147198
Option 4 1D : 94891147197
Status : Answered
Chosen Option : 4
Q31 frmr sfaem affs T9gfE =0 & X W v oa0f 2 3§ F T F 2 & s @ e
Ans X 1. 40%
< 2 35%
< 3 60%
4 b0%
Question ID : 94891111558
Option 1 1D : 94891146231
Option 2 ID : 94891146232
Option 3 ID : 94891146230
Option 4 1D : 94891146229
Status : Not Answered
Chosen Option : --
Q32 o (wa ¥ g T T # v ¥ fr seafen # g8
Ans X FreT e
X 2 FTa
X 3 BediHIg
4 3eal waeT
Question ID : 94891111809
Option 11D : 94891147234
Option 2 ID : 94891147236
Option 3 ID : 94891147235
Option 4 1D : 94891147233
Status : Answered
Chosen Option : 4




@% gzg AT (Raut Nacha) &g & Sfag afeard a7 §2

Ans

. BedlEIE
X 2 ZNEs
K5 afEam
X 4 Tqem g
Question ID : 94891111808
Option 1 1D : 94891147229
Option 2 ID : 94891147230
Option 3 ID : 94891147231
Option 4 ID : 94891147232
Status : Not Answered
Chosen Option : --
Q.34 1 1 1
aE x+-=13Ry+>=1 § @z +> F 7F A7 FfaT)
v z X
Ans 1. 1
<2 -1
<30
K42
Question ID : 94891111566
Option 1 1D : 94891146262
Option 2 ID : 94891146263
Option 3 ID : 94891146261
Option 4 1D : 94891146264
Status : Answered
Chosen Option : 1
Q.35 rgry 7em, yefAefer T (Healthy States, Progressive India) R @ier oy &ear 272
Ans x 1. *
A2 gerAEEr
X 3. P FIET
o At (NITI) 3HreT
Question ID : 94891111840
Option 1 1D : 94891147358
Option 2 1D : 94891147360
Option 3 ID : 94891147359
Option 4 1D : 94891147357
Status : Answered
Chosen Option : 1




Q.36 faw st st &, TR 22 F wE W 52 # aMfEe &Y g =, O St aftuenst @ s e

Eaje |
26, 15, 8, 32, 18, 22
ans X 16
<23
3. 2
K45
Question ID : 94891111573
Option 1 ID : 94891146292
Option 2 ID : 94891146291
Option 3 ID : 94891146289
Option 4 1D : 94891146290
Status : Answered
Chosen Option : 3
Q.37 5w FOUE T GE A 3T FOULT WA F Ferwet T 8, A 5 & w9 # S
ST B
Ans 1 3 =) ﬁ
X 2 FFas g
& 3. gIEE 9EnH
X 4 = gEmE
Question ID : 94891111838
Option 1 1D : 94891147352
Option 2 ID : 94891147350
Option 3 ID : 94891147351
Option 4 ID : 94891147349
Status : Not Answered
Chosen Option : --
Q.38 A 3y B v @ et et 3 #5130 RAT F 0 = wea €1 B H#X C vw wny T s s
& 40 BT # 90 FT T § F9k C Hv A T my e 36 9 @ 60 B F 9w e § 3
v Ty B 57 w1 w [ e & e @ e
Ans 2
X 1287 ICGH
2
X2 23 ICG)
2
X 247 ICG)
2
4 26 ICG
Question ID : 94891111561
Option 1 1D : 94891146242
Option 2 ID : 94891146244
Option 3 ID : 94891146243
Option 4 1D : 94891146241
Status : Answered
Chosen Option : 4




P AT WR A, I w9 gEd:

X 2. GwEr
X o ot
X+ w@ st

_ HEarEl

Question ID :

Option 1 1D

Option 21D :

Option 3 ID

Option 4 ID :

Status

Chosen Option :

94891111815
: 94891147259
94891147257
1 94891147260
94891147258
: Answered

1

Fohcllcl T £1" FEHT T Figa § T TEY F?
A X1 s B A

X2 s ¥ & & a8

Q.40 T SEeT & HIET T HY FANT S g HEA o w4, “Ig TET Fr 38T ¥, Tomd far &% B #r

S oge droad
X 4 rar & e

Question ID : 94891111780

Option 11D : 94891147118

Option 2 ID : 94891147120

Option 3 ID : 94891147117

Option 4 ID : 94891147119

Status : Answered
Chosen Option : 1
QA4 g | TEE F g Bg & 300 m F gl W Bum v fig @, T5 F AT F 3ewwT Hor 60°
3F TEI 1 Frs Aa Hiew
Ans

X 125043 m
# 2 2001/3m
3 30043 m
K 4 1504/3m

Question ID : 94891111570

Option 1 ID : 94891146280

Option 2 ID : 94891146279

Option 3 ID : 94891146277

Option 4 ID : 94891146278

Status : Answered

Chosen Option : 3




Q.42 v g F FOT F I 12 22 3 4 ¥ TGS F WA T BT F AT AT HS0

Ans x 1.120°
X 2. 360°
< 3.180°
4.144°
Question ID : 94891111568
Option 1 ID : 94891146269
Option 2 ID : 94891146272
Option 3 ID : 94891146270
Option 4 ID : 94891146271
Status : Answered
Chosen Option : 4
Q.43 . : :
TAT 9T eI FT FEY F€T W@ SAH T FiT 4@ 272
Ans
1.
qHET @
X 2. 3caXYEA e (The Arctic Circle)
X 3 e Y@
& 4 FeRT @
Question ID : 94891111825
Option 1 ID : 94891147297
Option 2 ID : 94891147300
Option 3 ID : 94891147298
Option 4 ID : 94891147299
Status : Answered

Chosen Option :

1




Q.44 & 5 FFFN F TATEF HTTT FY AN 30F TG /T AT T F e &
T TFaeT # FerT 99 % U s Aves Feed §

(i) 3mEs F 710,000 F vHHT WETIAT YoF F AR FA AN 2500 HEw H @ TEAH @ A

& F HaTH g =i

(ii) o 3m¥E® Fo 5,000 FFT F [EAF F I FIA £, A 3§ TR WEEAA Yo A 50% T A

T & S 2
(iii) ez & ot ¥ B, 18 ¥ i 9y 5% Terwar O F gE & v 3

(iv) ofe faezmert % R Bew, 20 o A TEEET F W a9 # TEOAT 5 £, 9 5 e

2,000 & I T T HETSAT &

(v) TR & FEAT Ay 3 afEaEr & e, qEawed F werar - gl

Bl T & T F S / FAedr & % ¥ & T T & YR W AT 77 Ave e &
77 =fFa 50 Aes % T8 TR Wtd N % [T 3% § g o & v e, v @
318 AEET F ded 3¢ & TRaT g1 HTTH 9 F & T ST & ATaiea e off s 9 o

AT G T

T D vF TR # Rete ¥ 37 35,000 FEw Fr 20 TEAH F TIEE B AT 18 ST H e
# FerTdr AW # Ao F F AT 12,000 F WEEAAT ok P T F e oA

Ans X 1. Faer (iv) ¥ d89 3
X 2. Faer (jii) AR (iv) & T8T 3%
g T &
X 4 Faer (jii) F dga e

Question ID :

Option 1 ID

Option 3 ID

Status

94891111798

: 94891147191
Option 21D :

94891147192

: 94891147189
Option 4 ID :

94891147190

: Not Answered
Chosen Option :

Q45 o F geree BRI Fe (Anti-Defection law) BFa a8 & wiia frar #rar ar?

Ans X 1.1986
x 21976

< 31989

4. 1985

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

94891111827
94891147305
94891147308
94891147306
94891147307
Not Answered




Q46 Ry ‘A av ¥, B w o < ¥, C w0 § A D o+ ¥, A PR shew a

Chosen Option :

A AT AT
24D8A12C4B6
Ans 1. 45
X253
X 3 57
< 4189
Question ID : 94891111783
Option 11D : 94891147131
Option 2 ID : 94891147129
Option 3 ID : 94891147130
Option 4 ID : 94891147132
Status : Answered
Chosen Option : 1
Q.47
‘ST AT 1 F9 Y &g Jar 27
Ans K. w7ToT daar
X 2 feoiT FAR
X 5 TF FH
4. ZISTHRT Flesh
Question ID : 94891111810
Option 1 ID : 94891147240
Option 2 ID : 94891147238
Option 3 ID : 94891147237
Option 4 ID : 94891147239
Status : Answered
Chosen Option : 4
Q.48
afEy 1.25 x 2.4 = 3§, & 7.50 X 0.4 &7 & A7 =T
ans X 1. 30
X26
3. 3
X415
Question ID : 94891111547
Option 1 ID : 94891146188
Option 2 ID : 94891146187
Option 3 ID : 94891146186
Option 4 ID : 94891146185
Status : Answered

3




Q49 TERRT § ¥ 8 YoR & JEU0 F T § 30RF Feaed (catalytic converter) fhe #% IRa
o mar 7

Ans x1ﬁﬁw
X 5. TR SEHOT
X 4. SToT JEuUT

Question ID : 94891111824
Option 1 ID : 94891147293
Option 2 ID : 94891147294
Option 3 ID : 94891147296
Option 4 ID : 94891147295
Status : Answered
Chosen Option : 2
Q.50 & 7% FAFE F AAEF HeATS FY AR 36F qE BT AT T2 F ZeeW &
Frenie wamst & e wEwe e (@ ) F 91 ig S o efe $ R sedeent
Za AT HEaT AEE O BRI e §
i. 3 e, SfErE, W, T Ree At de vares (R o 2 R F e der afee
i. 3% gud 4uf & Sros. fEeh st @ =R
iii. 38 wrufEE T 9T 8 ¥ &1 flaor g o AvenfEe TR 9T 3 a9 @ et s @ il
iv. 3ET e AT 3T 9T =T gws g =R
T 3FAGER F 9 # ATERT & S El & 9 ey & ANUR 9T HTH T WU FET o9
IR B AEE ¥ 9T T ¥ R i ¥ g am £ T s e o @ yfiw AR
BT E B FRAT g1 HTH T H & TS AAF F AT T o 3w A F AT @l oA
zl
A & sfoErE AR ey vl % wy wew A Tern 9f & §) 3 qE-ufEE T oW 10 av
F T e 1 9F B & wrwny sEsh @ F e e gl
Ans . .
" e i AT iv F TET 3
X2 Faeri 3 ii & T8 3%
X 3 e i T iv % JET 3¢
X 4 Fae i AT iv & 98T 31
Question ID : 94891111797
Option 1 ID : 94891147187
Option 2 ID : 94891147185
Option 3 ID : 94891147188
Option 4 ID : 94891147186
Status : Not Answered
Chosen Option : --




Q.51 43, 36, 72 3t 24 1 FHEA. (HCF), 5% s.8.T. (LCM) & fraett o enféier gem?

Chosen Option :

Ans X 1.18
X210
X315
4. 12
Question ID : 94891111550
Option 1 ID : 94891146200
Option 2 ID : 94891146198
Option 3 ID : 94891146199
Option 4 ID : 94891146197
Status : Answered
Chosen Option : 4
Q.52 o
cerEe 3w ofyw frme w=m Far 27
Al
"X enfaE =
K2 HFIEE'-IT EIE-IT
» fEeaw
X4 ﬂ“u'-l T
Question ID : 94891111812
Option 1 ID : 94891147248
Option 2 ID : 94891147245
Option 3 ID : 94891147247
Option 4 ID : 94891147246
Status : Answered
Chosen Option : 3
Q.53 vF =fFF = v fig ¥ 4F FEF HTN FW T 3 H AT 138 km F gf T7 F) v WY T, W@
¢ 7 AT 50 km & fr a7 $1 37 5T & a0 Hger K 138 km Fr gf 9w F T F, FF @W T
3 40 km #r gl 57 F| T 3@ N RS By F Bt o7 S Fw Rar A &2
Ans
& 1. qfFeE & T 10 km
X 2 9& #r 3 366 km
&< 3. of¥gs #7 3T 366 km
4 9& @ AR 10 km
Question ID : 94891111802
Option 1 ID : 94891147207
Option 2 ID : 94891147206
Option 3 ID : 94891147205
Option 4 ID : 94891147208
Status : Answered

4




Q.54

=8 O Fw e o7 ZHeT Y9R §19 (terminating) 72

Ans 19
512
90
104
2
111
11
N
6
6
4, 5
i
Question ID : 94891111544
Option 1 ID : 94891146176
Option 2 ID : 94891146175
Option 3 1D : 94891146173
Option 4 ID : 94891146174
Status : Answered
Chosen Option : 4
Q.55 31,540 #r TfEr =1 A, B, ca:ﬁasqmﬁaﬁaﬁ:mmﬁ:Aﬁssﬁrctﬁwﬁa:wa:g
F e fgwar f&em BﬁAsﬂ:C#%ﬁﬁxwa;%a:m%mﬁm C % feEwm 7
5T
Ans 1. 2930
< 2 3920
< 3 7850
X 4 7900
Question ID : 94891111555
Option 1 1D : 94891146218
Option 2 ID : 94891146217
Option 3 ID : 94891146220
Option 4 ID : 94891146219
Status : Not Answered
Chosen Option : --
.56 L :
0% Cra ardT oaET Fr oRT & BRET TN F w7 F T 49T
Ans :
1.
X1 HES
2 FTER
X 3. FreTeRTar
b m
Question ID : 94891111823
Option 1 1D : 94891147289
Option 2 1D : 94891147290
Option 3 ID : 94891147292
Option 4 ID : 94891147291
Status : Answered
Chosen Option : 2




Q.57 far=faflaa # @ o 9 vad (Paul Allen) & @rer fieet a9 1975 # AGHET & FU19aT & or?

Ans X 1. T8reeT githeT (Stephen Hawkins)
X 2 A JHLE (Mark Zuckerberg)

s o1 Ticw (Bill Gates)
X 4 oy Jrer (Larry Wall)

Question ID : 94891111837
Option 1 ID : 94891147348
Option 2 ID : 94891147345
Option 3 ID : 94891147346
Option 4 1D : 94891147347
Status : Answered
Chosen Option : 3
Q.58
(4 +2X2)-[4 =+ (2 % 2)] F AT AT HfAT
ans X 1.0
K22
<31
4.3
Question ID : 94891111546
Option 11D : 94891146181
Option 2 1D : 94891146183
Option 3 ID : 94891146182
Option 4 1D : 94891146184
Status : Answered
Chosen Option : 4
Q.59 . ¢ 2
TR sees Frafeed # § e 0o 7 oF g3 9
Ans X e W
2. Fca{l@us
&< 3 g gger
X 4+ ghrgmom
Question ID : 94891111822
Option 1 1D : 94891147287
Option 2 ID : 94891147286
Option 3 ID : 94891147285
Option 4 1D : 94891147288
Status : Answered
Chosen Option : 1




W Srafafea & @ 9 @ o REET # 97 & SEar
Ans 1Ty g3 (Nathu La Pass)

X 2. Z\T 2T (Debsa Pass)

X s AT 0 (Mana Pass)

X 4 g1 oT=0T &Y (Bara Lacha Pass)

Option 1 ID
Option 3 ID

Status
Chosen Option

Question ID :

Option 21D :

Option 4 ID :

94891111826
1 94891147304
94891147303
1 94891147302
94891147301
: Answered

1

Q.61 v amw Fu=t it Frt @ camgdE w1 e F & 7 T B we A g R e &
IF THEE: A T F B gd g @ it O fF G e et F @ 9 @ FvE e
i &7 ¥ 9T LT 27
FU:
1. T B, @
2. #5 Sifzar, frem @t &
s
. S ®reT, e 78 B
I. T frem, wer 78 &

At XL e | 3l Brse 1| @ aeeT e §
2. Fael ToSFY || I FIAT
X3 Far oy | 3T 7 & Ty || oo Far g
X 4 Fraer fAsHy | qrete LT &

Question ID

Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

: 94891111779
Option 11D :

94891147115

: 94891147114

94891147116

: 94891147113

Answered
3

Q.62

T ET T W gl ST 2
&1 AT
2. R
X 5 el
<4 Brr

Ans

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

: 94891111813

94891147252

: 94891147251

94891147249

: 94891147250

Not Answered




V% g e feaw #8 Famr Sar §?
Ane X128 AT
> 16 fEae
<2 29 AME
X410 fageT

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 ID

Status :
Chosen Option :

1 94891111834
94891147334
1 94891147333
94891147335
1 94891147336
Answered

2

Q.64 16 m 3 10 m F% =17 &Y W A W 8 m F g W wE F| 37 oMt F A Fr gfr w7 Afsw

Chosen Option :

Ans X 1.6 m
210 m
X38m
X412 m
Question ID : 94891111571
Option 1 ID : 94891146281
Option 2 ID : 94891146284
Option 3 ID : 94891146282
Option 4 ID : 94891146283
Status : Answered
Chosen Option : 2
Q.65 3@ yfwaw WeR & T F STGT AT AT, A 44 cm Fr VY T FoF F 3T G0 A T
2l
Al
ns X 1. 49 cm?
2. 98 cm?
X 3 494/2 cm?
< 4 196 cm?
Question ID : 94891111569
Option 1 ID : 94891146275
Option 2 ID : 94891146273
Option 3 ID : 94891146276
Option 4 ID : 94891146274
Status : Answered

1




FT T
Ans
©
X 4

Q.66 33 37 3w = AT AT, S R T T F TE=AT F AT F T F FEeaA & ¥ Bl

Question ID :
Option 11D :
Option 21D :

Option 3 ID

94891111796
94891147184
94891147183

194891147181
Option 4 ID :
Status :

Chosen Option :

94891147182
Answered
1

A srdueew sfETe (INS Arighat)
X 2. 3mEvaATH I%F (INS Chakra)

X 3. yeTaTH AFET (INS Arihant)
X 4. amEvaAea Foradr (INS Kalvari)

Q.67 2017 & = Fr 7§ FRT FAET aFTIET AeTEeF FEET TE &A= = E?

Question ID

Option 2 ID

: 94891111832
Option 11D :

94891147328

1 94891147326
Option 31D :
Option 4 ID :

Status :

Chosen Option :

94891147325
94891147327
Not Answered




¥ HRT F RHAI] Tl HET F FEACT Fa TUT 22

Ans i
1.
X 1. ST
X 3. gemETe
X 4. e H=
3
Question ID : 94891111806
Option 1 ID : 94891147222
Option 2 ID : 94891147224
Option 3 ID : 94891147221
Option 4 ID : 94891147223
Status : Answered
Chosen Option : 2
Q.69 R F T anenst & 7 = 3 IR F AT ¥ Eay #iegan # aeterdy
T B 9§
Ans
I EYTIIX TehTanIoT
X 2 Y &3 4T
X 5. SR gl
& 4 U T TATIIOT
Question ID : 94891111843
Option 1 1D : 94891147371
Option 2 ID : 94891147369
Option 3 ID : 94891147372
Option 4 ID : 94891147370
Status : Answered
Chosen Option : 1
Q.70 =fy w= Fr v o= F 50% Fr FA Fr S &, G 37F TET SIGA F @ T FA F Fhewerd A
HfaT)
ans X 1. 60%
X 2 50%
X 3 25%
4. 75%
Question ID : 94891111565
Option 1 ID : 94891146260
Option 2 ID : 94891146258
Option 3 ID : 94891146257
Option 4 ID : 94891146259
Status : Answered
Chosen Option : 3




Q.71 el AR = Fr T g F e 28 39 ¥ 3fy S, Tk F 6 I A ¥, A el Fr oy A

Frfamw)
Ane 125 ag
X231 3%
<3 33 a¥
X4 28 af
Question ID : 94891111786
Option 11D : 94891147141
Option 2 ID : 94891147142
Option 3 ID : 94891147143
Option 4 ID : 94891147144
Status : Answered
Chosen Option : 1
Q.72 L) +
T T ATET S AT A FeT AT g
Ans :
/< 1. U8 g (end bulb)
< 2 FfreEr
x s HaTdd (axon)
4 QTR (dendrite)
Question ID : 94891111816
Option 1 ID : 94891147264
Option 2 ID : 94891147261
Option 3 ID : 94891147262
Option 4 ID : 94891147263
Status : Answered
Chosen Option : 4
A7 yra #, T F § P T TS g7 H A R w1 87
Ans 1 !-I, ﬁ § a
X 2 9T BT i@
A 3 TS ITEET
X4 faeg smaeT
Question ID : 94891111841
Option 1 ID : 94891147364
Option 2 ID : 94891147362
Option 3 ID : 94891147363
Option 4 ID : 94891147361
Status : Answered

Chosen Option : 1




Q.74 s (S:}zx—1 % (234 _ (3315 g, @ x F A7 719 AT

Ans x 1. 5
<20
X312
4. 8
Question ID : 94891111551
Option 1 1D : 94891146204
Option 2 ID : 94891146203
Option 3 ID : 94891146202
Option 4 1D : 94891146201
Status : Answered
Chosen Option : 4
Q75 R, 2020 T WIoT AFFN F HJER, HTUTS T F AT FiT &2
Ans x 1 f & h n
X 2 FIT TEATTH
X s drog. e
4, ﬂﬂ[ IO} Eﬂ
Question ID : 94891111805
Option 1 1D : 94891147220
Option 2 ID : 94891147218
Option 3 ID : 94891147219
Option 4 1D : 94891147217
Status : Answered
Chosen Option : 1
Q76 zgrae WY H FUTET F THHER T T TEAT ARAT T FAEF FeT A2
Ans X1 ranfer & RO
X 2. ggleT & TMTFaTE
5 gexmETe & A=mH
X 4 9319 & o9 &g
Question ID : 94891111819
Option 1 1D : 94891147273
Option 2 ID : 94891147275
Option 3 ID : 94891147276
Option 4 ID : 94891147274
Status : Answered

Chosen Option : 3




Q.77 2 YoEnfEa & e § v & GAT # ToeT % wAr § A FAw 20 kmh iR 25 knvh F T @

Ans

T gE T AR T ¥ 9 ¥ e & 97 o o & = @ ow o o @l e & 80
km o gl 5@ H §1 3 R F @9 & gft 7a Hsw

X 1. 760 km
X 2 740 km
V'3 720 km
X 4700 km

Question ID :
Option 11D :
Option 21D :

94891111563
94891146251
94891146250

Option 3 ID : 94891146252
Option 4 ID : 94891146249

Status : Not Answered
Chosen Option : --
Q.78 v gl WrUReT Ut @ TH AT & W 3 3§ # I 2850 A 4 I F wEwc 1925 @ Far F
Byt o i ]
Ane of 1 2625
< 2 3700
X 3. 3850
X 4 3925
Question ID : 94891111557
Option 11D : 94891146225
Option 2 ID : 94891146228
Option 3 ID : 94891146227
Option 4 ID : 94891146226
Status : Not Answered
Chosen Option : --
Q.79 o mear F 21 # 32 Ha a9a W 40% T @A DA &1 3§ HeH F 20% AW FAS F AT 21 A
Ans 116
X218
X320
X415
Question ID : 94891111559
Option 11D : 94891146233
Option 2 ID : 94891146235
Option 3 ID : 94891146234
Option 4 ID : 94891146236
Status : Not Answered

Chosen Option :




O e, @ F @ R AT B
v Fiftar

X 2. gfiraiar (Iris)

X 3 fafererdr Amaaft

Ans

X 4 o

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status

Chosen Option

94891111811

94891147244
94891147243
94891147242
94891147241

- Answered
1

Q8 sredre Rrewr R T AR T wRAT AR P d ¥ Sl 9

Ans X 1. FYETeT

X 2 s
X 3 Hre FARY
v '\El’ﬁHT =)
Question ID : 94891111807
Option 11D : 94891147225
Option 2 ID : 94891147226
Option 3 ID : 94891147227
Option 4 ID : 94891147228
Status : Answered
Chosen Option : 1
Q82 v =afFd & sl udt 2144 # & AN 3N o & FT T F SR FoRE AW I g 3H TE
F FT H{eT AT AT
Ans X 1. 3200
v 2 380
< 3 3180
X< 43100
Question ID : 94891111560
Option 1 ID : 94891146238
Option 2 ID : 94891146240
Option 3 ID : 94891146237
Option 4 ID : 94891146239
Status : Not Answered
Chosen Option : --




Q.83 vw Tqes & v fawor & FAE 23 om ¥ AN 5TH e A oSt F 5@ 0T W @ v FE A

FETEar FA: 17 em 3R 7 em §1 TR F aAw 7 S
Ans o1 276 cm?
X 2 376 cm?
X 3 286 cm?
X< 4 300 cm?

Question ID

Option 11D :
Option 21D :
Option 31D :

Option 4 ID

1 94891111564
94891146253
94891146254
94891146256

: 94891146255
Status :
Chosen Option :

Not Answered

Q84 oafafas # & &9 @ B 2 & S Sl IRC, A% Srow FEa E e & AT @2

Ans 34
L Wt
15

2
;™ 2.5
5

,. 16
3, T
v 15

8
4 —
2 15

Question ID :
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID
Status :

Chosen Option :

94891111549
94891146196
94891146194

1 94891146193
1 94891146195

Not Answered

Q.85 few & dFfaswr F Rw verm fFar s aer sfeg R - e, e ganr e B s

2

X 1. feT T@reT weErea (WHO)
v 2 ZaE (UNESCO)

X 3 gfa@® (UNICEF)

X 4+ g sRa (UGC INDIA)

Ans

Question ID :
Option 11D
Option 2 ID
Option 31D :
Option4 1D :

Status :

Chosen Option :

94891111830

94891147317
1 94891147319

94891147318
94891147320
Not Answered




Q.86 fear srar AR A, AR A H ©F HAT-FAT TuT (2012-2017) F SR & H-Hwr @ist (X Fw V) F

Ifraet # 8 (Fo & ' #) ;S
a9 20122017 & R AR A H Mpoie ot

8 n
70 64 64
58
60 52
50 Q2
40 34
23 % 26
30
w l I I I
10
2012 2013 2014 2015 2016

ax my

Wit =5 # X #r ded B e 7
Ans X 1. 28
X238
X3 48
v 32

Question ID :
Option 11D :

Option 2 ID

Chosen Option

94891111789
94891147154

- 94891147153
Option 31D :
Option4 1D :

Status :
|

94891147156
94891147155
Answered

Q.87 fwfafee afew 4 aut # gu @Ry avgst & &9 FFR F e (Baea #) # @ ¢ afe
HTUTRE 99T T 3ea7 &l

T FEGEAY

2010 2015 2020
i 1005 2010 2000 1000
maw 1500 1000 1500 2000
AT A 1010 2010 2250 2000
e Fvat § ¥ i T A @
Ans x 1

&r % 3afY & T Iae & dEg e 1500 BT g

X2 3§ 2010 & A F 3cHCA IeaaHd o
V'3 3§ 2010 & AR AT FT 3cIEH ~gAGH o

X 4 g§ 2020 &F TG FT 3cUCT ITIadHT oT

Question ID :

Option 1 ID

Status

94891111790

- 94891147160
Option 21D :
Option 31D :
Option4 1D :

94891147157
94891147158
94891147159

- Not Answered
Chosen Option :




Q.88 far arar aIx AT, AT A H ©F FoE-FerET aur (2012-2017) F gRie & -3 @ist (X 3R Y) F

Ans

Q.89

Ans

IrateRt i G (g9 & dEwr #) a7 ZEr 3
g 2012-2017 F SR BT A H Afpores &1

60

72 4
64 [
58
52
50 @
40 34 3
30

w 23 28
w I I I I
10

0

2015 2016 2017

2012 2013 2014 2

X my

Tl vt & A X B g oy 3R Y o R w seera s A

X12:1
n21:3
X33:1
va1:2

Question ID :

Option 11D :

Option 2 ID

Option 3 ID

Option 4 ID :

Status :

Chosen Option :

94891111791
94891147162

1 94891147163
194891147164

94891147161
Not Answered

@ I AW A, A A A T FHeE-FHoE aur (2012-2017) & SRie & erer-aieer aist (X #ROY) F
IRrTET i R (IR T T H) F o 7

4 2012-2017 F TR BT A B IpoRe| B

72 4
64 64
58
52

S0 a2
40 34 32
0 B = 2
20

10

0

2012 4 2015 2016

2013 201 2017

X my

T 2014 3R 2015 F R X & g By, 9 2014 3R 2016 & 3w ¥ #r T fofy Fr wemwr
fas wfawa &2

< 1.60.00
< 2 78.95
v 3 5588
X4 4411
Question ID
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID
Status :
Chosen Option :

1 94891111792

94891147168
94891147166

1 94891147167
1 94891147165

Not Answered




Q.90 ﬁummﬁaﬂrﬁwﬁaﬂm@aqﬁaﬁﬁa?@mﬁmmgﬁmﬂ,ma
TF WARTA: FE I ¥ e gdid 2 @1 3t gaw & e o st & @ 7 @ swEt &

TEF 7T F T = A2
U

I mefr O, Ty

II. Tt ey, ST o §)
oy

I. Fo shfae wofr, ax &
Il. Fo Shfae wofr, @y F

A R | sk e 11 @ g e

X 2 Fger oSy | 9Tl FIaT &

Xegarforay I dkad oy Il o7 FxaT &

X 4 Faer forsey || 9TereT FIaT &

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Option4 1D :
Status :
Chosen Option :

94891111777
94891147107
94891147105
- 94891147108
94891147106
Not Answered

Q.91 =x 7y Bw 7w §, G ¥ A 6w A @ wF ¥ 3N uw e ) 3RS AT &7 99 FY)

Ans X1 frprerm EFaT (Nikola Tesla)

X 2 JFF Iie (James Watt)
X 3 oTAF ufdEa (Thomas Edison)
v 4. ST FerFad (Christopher Columbus)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

94891111795
94891147180
94891147178
94891147177
94891147179
Not Answered

Q.92 it v e s & Food is Hot' ' ‘Feni de Mil, ‘Tea is Ready' @' ‘Din de Kele'; ‘Cold and
Hot' & ‘Kan ku Mil' &7 ‘| am Ready’ @ ‘Mest ni Kele' & &7 & frar sar &, & 58 %2 smor &

Ans

‘Tea is Hot' &' & forar Srwem?
/< 1. Din de Kele
v 2 Din de Mil
&< 3. Din ni Mil
X 4 Mil de Din

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chocoan MNntinan -

94891111776
94891147102
94891147101
94891147104
94891147103
Not Answered




Q.93 i faficz %o oo F GREAT &' 7185120 for@m e &, & 38 &7 & MASTER =7 3% fagr
STeET?

Ans X' 11311920517
v'2 1311920518
X 31311920618
X 4 1310920518

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

\

: 94891111775

- 94891147097

- 94891147099

- 94891147100

- 94891147098

- Not Answered
Chosen Option : --

Q94 g ew-wg & 994 HivT, S PEARRE goen & 9o R (7) F w0 WA T B
RPO QON PNM OML NLK ?

Ans 1 MKJ
X 2 JKN
X 3 IML
< 4 NKJ

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option4 1D :

Status :

Chosen Option :

94891111784
94891147133
94891147134
94891147136
94891147135
Not Answered

Q.95 ofy e F o, HIAT F T, W H A, 6T F G H G B WG FaT A 2, 7 AT

FT T F47 B
Ans X LB
V2 e
X 3. IrCATEr
)
X 4 el
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

94891111778
94891147111
94891147109
94891147110
94891147112
Not Answered




Q.96 ©F &=% A, B, C. D, E @7 F 70t ¥ ofew 23 § T 3a9-HareT 3% wog i &1 C &aa ar
TSH G FUF FF A AT gl DF 3F, ANNET R, daCak Faams I E3R F &
IF FHL: HOFAH HR AT 7@ E

©F @EF A ¥ FEF 3F gaaA 87
Ans ‘, 1B
X2E
X3 A
X4D
Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status
Chosen Option :

- 94891111801
94891147202
94891147201
94891147203
- 94891147204
- Not Answered

Q.97 frw 7w Fua W eAwTEF AR w R Tt R @A B & ad aromst #F & S wue F
o= &2
Fue:
e T F F AT F FE, F S-S § A e 39§, s8lv @i msd gaew
beoi
RO

| S TAEHAT F T F e Fw 9iE B s
II. = et & frert Y aem #9 AW THE FET

At X1 erom | sk awom 1| @ ffea §
V2 ¥ uror || AfgT §
Xigararom | ik F & aron || ART &
X 4 Faer aror | AfgT &

Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status

Chosen Option :

94891111782
94891147127

194891147126

94891147128
94891147125

- Not Answered

Q98 x sew-wwg v ov § e & 99 R o @ E9 € R v R ¥ 3RS @ 9ue #

Ans X' 1. LONM
v 2 HRSI

X 3. BYXC
X 4 SHGT

! Question ID

Option 1 ID

Option 21D :

Option 31D :

Option 4 ID :

Status

Chosen Option :

1 94891111793
194891147171

94891147170
94891147169
94891147172

- Not Answered




Q.99 FEwst & 9% wag U aw ¥, FFd ¥ 59 R A § TS ¢, HR UF FEIS ¢ HEIS FAg w

TTT FL

Ans X145, 50
X 2 108, 120
X372, 80
v 2 104, 117

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status

Chosen Option :

94891111794
94891147173
94891147175
94891147174
94891147176

- Not Answered

Q100 57 faeq 1 =a= Y, Brws WY 92 F WY @ FEY § A WL 9 TS € X

DPA : GUH :: MEV : ?
Ans X' 1. QRC

v'2 PJC
X3 PJD
X4 QRB

QP HTML Generated date 2021/08/03-10:28:01

Question ID :
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID :

Status

94891111787

194891147148
1 94891147146

94891147145
94891147147

- Not Answered
Chosen Option :
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